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=Year 11                       =Calculus                       =Worksheet 1
	1. Estimate the rate of change of x with respect to t from the following graph at (i) 
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	2. Refer to Q1. Estimate the average rate of change of x with respect to t over
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	3. State the interval(s) where the gradient is defined for the following hybrid function.               y  

                                                                                          ((7, 1)
                                                      0                       5                x             
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	4. Refer to Q3. Find the average gradient over the domain of the hybrid function.

	5. Find 
[image: image5.wmf]1

3

2

lim

2

1

-

-

+

®

x

x

x

x

. 


	6. Find 
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	7. Given
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, find the gradient of the chord joining the point at
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to the point at (i)
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	8. Given
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	9. Given
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	10. Given
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	11. Given
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	Numerical, algebraic and worded answers.



1.  (0.5, 0, 0.4


2.  1/3


3.  ((2, 5), (5, 7]


4.  2/9


5.  4


6.  0


7.  (i) 3  (ii) 2.5  


     (iii) 2.1 (iv) 2.01


8.  2


9.  (i) 7  (ii) 4.75  


     (iii) 3.31 (iv) 3.03


10.  3


11.  3x2
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